


(A)  Number of electrons present in an atom
(B)  Number of protons present in an atom 
(C)  Number of neutrons present in an atom
(D)  Number of atoms present in a molecule of a 

    substance 
(E)  None of these

(A)  26.5% (B)  27.75%
(C)  29.6 % (D)  28.57 %
(E)  None of these

(A)  6C
12

 and 6C
14

 

(B)  92U
235

 and 92U
238

(C)  1H1 and 1H2 

(D)  18Ar
40

 and 20Ca
40

(E)  None of these
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

(A)   48 g (B)   30 g
(C)   22 g (D)   11 g
(E)   None of these

was dropped.

(A)  44.1 m (B)  49 m 

(C)  25 m (D)  28.5 m

(E)  None of these

B and C 

(A)  90° +  (B)  90° +  

(C)  90° +  (D)  90° 

(E)  None of these





           

           

(A)  21 (B)  17 
(C)  19 (D)  15
(E)  None of these

(A)   (B)    

(C)   (D)   

(E) None of these

(A)  56 (B)  99 
(C)  77 (D)  117
(E)  None of these

10. Find the area of the shaded region in the following 

(A)  72(  +4) cm2 
(B)  108(  +4) cm2

(C)  36(  +4) cm2 
(D)  256(  +4) cm2

(E)  None of these

 
(A)  189 (B)  W 
(C)  Y (D)  186
(E)  None of these

 
(A)  NW, SW, NW (B)  SE, NE, SW
(C)  NE, SE, NE (D)  SE, NE, SE
(E)  None of these

Answers
1. (D) 2. (D) 3. (D) 4. (D) 5. (A) 6. (A)

7. (D) 8. (B) 9. (B) 10. (C) 11. (D) 12. (C)


